BARBERPUB E

BEAUTY BED

THERAPY BED MASSAGE BED

Pfillo GmbH

6154-0006



Installation

Headrest

Hydraulic Pump

Foot Lever

Accessories
Backrest 1X Seat 1X Footrest 1X Foot Lever 1X
Hydraulic Pump  1X Headrest 1X Armrest 2X

-1-




Installation

Accessories

F

7

T-Beam with long spring 1X

H

(¥

T-Beam with short spring 1X

Short Serrated Strip 2X

>

Short Aluminium Strip 2X

N

Long Aluminium Strip 2X

K L
L-Beam 1X Accessory 1X Pin 4X
Screw group
AA AB AC AD
M8X25 M10X30 M8X40 g M4X20
% 6X é 1X 8Xx 8X
AE AF AG AH
é - = =
X X ax ox
Al AJ AK AL
sx ox ax ix
AM
1X




Installation

Note the red arrows on the serrated
strips.

1.1 Install the short serrated strip (11) on the footrest and the long serrated strip (12) on the backrest

with the screws (AC).
1.2 Install the accessory (M) on the backrest with screws (AE).

1.3 Insert the L-beam (K) into the accessory (M) and lock it with the screws preinstalled.

Note the different length of springs.
4 N

=00 wmo

2.1 Install the frame (G) on the seat with screws (AA/AJ/AH).
2.2 Install the T-beam with long spring (H1) and the T-Beam with short spring (H2) with screws

preinstalled.

-3-



Installation

3.1 Place the T-beams (H1/H2) between the serrated strips (11/12) and Install the aluminium strips (J1/J2)
with screws (AD) on the serrated strips.
3.2 Connect the end of long spring with the seat and the end of short spring with the frame (G).

4.1 Install the foot lever (B) on the pump (C) with screws preinstalled.
4.2 Install the pump (C) on the frame (G) with screws (AB/AI/AF).

-4 -



Installation

5.1 Install the pump (C) on the base (F) with screws (AG/AK/AL).
5.2 Install the pins (L) and spring gaskets (Al) on the base (F).

6.1 Connect the armrest (E) and the headrest (D).

-5-




BARBERPUBE

Pfillo GmbH

Adresse: Kreuzweg 60,47809 Krefeld
E-Mail: pfillo.de@gmail.com
©Barberpub;1. Auflage 2022




